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f2)=5, f(-2)=3
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17. x+y-1=02 W, 42 F 2x2 +y? —xy -89 2ALA A

D x-1 @x+1 ® x+2
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L2x2 2 —xy -8
=2x% + (—x+ 1) = x(-x+1) -8
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@1006—1 @ 100° +1 ® 100° -1
@ 100 41 ®1
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100 = a 2 |3 517
(F4) =(@-1)(a+1)(a® +a+1)(a®-a+1)
=(a*-1) (a* +1)
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xty=2 x4y =Ud W, o= F FA B2 A2

D xy=-1 @ x>+y*=6 ® x*+yt=34
@x5+y5=86 ® x5 4y =198

~&B

@ x®+y3 = (x+y)% - 3xy(x +y) oA
14 = 2% — 3xy x 2
Soxy=-1
@ 22 +y? = (x+y)? - 2xy A
x> +y2=22-2(-1)=6
@ xt +yt = (3% +)2)% - 2222 | A
x4yt =62-2(-1)2 =34
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@® 6800 @ 7000 @7200 @ 7400 ® 7600
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198 = x, 200 = y, 202 = z 2} 5}H

1983 42003 + 2023 — 3 - 198 - 200 - 202
=3 +y3+22-3xyz

=(x+y+2) (2 +y2+ 22— xy—yz—2zx)

=%(X+y+1){(x—y)2 + -2+ (z-x?%
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23. MAFabc7tatb+c=3 a>+0>+c*=9,a+b+c* =24
EWEAZ W, @t + bt 4 ¢t + 19 P& FokE?

@6 @m0 @ 71 @ 72 ® 73

~&B ~

at+b+c=3---@

a?+b>+c*=9---Q
a®+b3+c3=24..-Q o]zt o},

@A A
a’?+b?>+c?=(a+b+c)*-2(ab+ bc+ca) =9
9—2(ab + bc + ca) =9

~ab+bct+ca=0 ---@
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a+b+c3

= (a+b+c)(a*+b?+ c? —ab - bc - ca) + 3abc
24 =3-(9-0)+ 3abc

abc=-1 ---®
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=81-2-6+1=70

(o a2b? + b2 + 2a?
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=0-2x(-1)x3
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